d(mARIL HE)

FEARILEF Y b

1+ v k)

EER | EEREEW txB d ARILEF Y b C H
13A 18 0.8x25 | W3/8 M6 x 25 24 73
16A 22 0.8x25 | W3/8 M6 x 25 24 76
20A 26 0.8x25 | W3/8 M6 x 25 2 78
25 32 0.8x25 | W3/8 M6 x 25 2% 78
30A 38 0.8x25 | W3/8 M6 x 25 2 81
40A 48 0.8x25 | W3/8 M6 x 25 24 86
50A 60 0.8x25 | W3/8 M6 x 25 2 03

Ao BE O ER VPR/AUREUAE 13~50A
HE SPCC R S E o= RE 1
% B RE 0.8t BE ﬁ';:"éz o+
B 10110010194 R A1-3
SHEET
meEl R AT YIRINERL anwsm | A3

INTEC




